
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
de dix

2, 999 × 1000 = ________ 3, 414 × 100 = ________

8, 068 × 10 = ________ 8, 884 × 1000 = ________

1, 861 × 100 = ________ 8, 976 × 1000000 = ________

10, 777 × 100 = ________ 10, 826 × 100 = ________

9, 726 × 1000 = ________ 2, 735 × 100 = ________

2, 944 × 100 = ________ 4, 844 × 100000 = ________

4, 507 × 100000 = ________ 2, 848 × 1000 = ________

4, 286 × 100000 = ________ 3, 607 × 10000 = ________

7, 594 × 1000000 = ________ 3, 062 × 1000000 = ________

10, 336 × 100 = ________ 10, 76 × 100 = ________

www.snowmath.com

https://www.snowmath.com

